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BUS173 (Instructor: Nhn)


PRACTICE QUESTIONS (Ch 12, 13)
Question 1

Suppose you have two regression models each containing 25 observations. Both models have SSE = 25 but the SST for the first model is 5500 and the second model is 68. Calculate the coefficient of determination for both models and comment on your values.

Ex: 12.26

(a) Compute SSR, SSE, 
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 and the coefficient of determination, using the following information: SST =
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= 100,000; r2  = 0.50; n = 52.

Ex: 13.8
The following model was fitted to a sample of 30 families in order to explain household milk consumption:


[image: image3.emf]


yi = β0 +β1x1i +β2x2i +εi
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Where,  yi = milk consumption, in quarts per week

x1 = weekly income, in hundreds of dollars

x2 = family size

The least squares estimates of the regression parameters were:

b0 = -0.025; b1 = 0.052, b2 = 1.14

a) Interpret b1 and b2.

b) Is it possible to provide a meaningful interpretation of the estimate b0?
Ex: 13.20
In the study mentioned in Question 4, where the least squares estimates were based on 30 sets of sample observations, the SST and SSR were found to be:

SST = 162.1 and SSR = 88.2
a) Find and interpret the coefficient of determination

b) Find the adjusted coefficient of determination

c) Find and interpret the coefficient of multiple correlation.
Ex: 13.68 (b)
What are the model constant and the slope coefficient of x1 when the dummy variable equals 1 in the following equation where x1 is a continuous variable and x2 is a dummy variable with a value of 0 or 1: 
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ŷ = −3+ 7x1 + 4.15x2 + 2.51x1x2
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